X
0:“ dl 7€ m™ilisk= 742170\,

sl HEgs =AIR7] Azl w2t 240 EH6HAL.

®  #2 1,000,000202 JHOIAIAS AIZISIRLL,
@  SHORHE HZ 700,00028 HEXE 7|7t : 2L,
®  HYOl Al2E Eg $Z 500,00090 FOHSHACE
@ MO8 Z7| 100,0008S ©4O=2 TOHSIYLE.
® MO TJ|(R7} : 100,0002)E 400,000¢0] S=Z TONSIALE.
®  BIA0| QIEH BT EHH|IZ 80,00082 #ZOE XIZSIRUCE
@  ESO0IRE7| 4 20,0009 HIFOF J|H5IULCE,
[E2HF]
o M = 1,000,000 (cH) = L 2 1,000,000
® (= 2 700000 (o) ¥ 7 A @ = 700,000
X C
o & (c)
Xt CH
o X (cH)
o) (Th)
® & (c)
X C
o X (cH)
X C
o & (c)




22 2ME SAEEZ T7I5H2.
[E4 38 & F]
= ear-h = =]
2 8 1,000000
Xz 700,000
=i FI\xE
i = 700,000
AU A==
= B 1,000,000
SEMERL JEMNE

Le

20



[2 3]

1,000,000 (CH)

1,000,000 |

ol

700,000  (CH)

ol

500,000  (CH)

od

100,000 (CH)

ol

400,000 (CH)
100,000 (CH)

HH i

80,000  (CH)

It

od

20,000 (TH)

ret

ol

20000 |

[E4F & H]

100,000 )

St

700,000 {)

St

1,000,000 {

St

@ o
& @
1ONE:)
() A
& &
& A
(Rh =
(&D 7
[1.000.000]
o =
100,000
Xrte| =
t
5 500,000
o =
Aol
F 100,000
9| i
ZaN
5 80,000

ret

400,000

1l T
0=

21




SAEEYY g MEME Y - HA|

[ X & W E ]
NS A A AN
128 31 37 T8 1URE 128 31UMK|
R S5 H[E =4
54 2 CiEoonl| aame= 100000 ME0EI 100000 | M EHE 400,000
o = Of=t71%t42 700000 ZaMEy| 80,000
AF2 500,000 N 71 8 = 20,000
X =2 & 1,000000
27120[2] 200000 [« [ =7|20]2] 200,000

THEAEHES 9% AIMO| 5 TS LIEHS ARIZIAOID O|”siT),
LA 70N YW 7IZIKIS] HE AEATIS LIEHHS ARIETAMOID 02 4 gict.

[ X2 H E]
H=SEl TR AENE
1€ 1 S 129 31 x|
Rt | N |
o 2 1,000,000 | oA 0HQ 2 0 il 2 5ol otz 100000
¢ 2 0 ™73 0 A =z ol=7ixte2 700000
AU 0 = AYSUT B0

8) =2 JHRIMNYGLRF)Q| X2S HaAlZIt

22



